Вариант 1

1. Решить уравнения:

а)
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 = 49  
в) 3 2х - 2· 3 2х – 1 - 2· 3 2х – 2 = 1    г)  9 х – 3 х + 1 – 54 = 0
2. Решить неравенства:

а) 7 х – 4 < 49              б)[image: image4.png]
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в) 
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д) 
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Вариант 2

1. Решить уравнения:

а) 
[image: image10.wmf]х
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                           б) 16 ·8 2 + 3х= 1                 

в) 2 х + 3 + 2 х + 1- 7· 2 х = 48

г)  4 х – 2 х + 1 = 48 
2. Решить неравенства:

а) 3 х – 7 ≤ 81                         б) [image: image12.png]



в) 
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Вариант 3

1. Решить уравнения:

а) 
[image: image16.wmf]х
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                    б) 64 ·16 2х +1= 8 3 – 2х  

в) 7 х  - 7 х - 1= 6                          г)  5 2х – 2· 5 х – 15 = 0 

2. Решить неравенства:

а) 5 3х + 1 ≤ 25                                б)
[image: image17.wmf]õ
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Вариант 4

1. Решить уравнения:

а) 
[image: image21.wmf]х
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в)4·3 х + 2  +5· 3 х + 1 - 6·3 х = 5

г)  3 2х + 2· 3 х – 15 = 0 
2. Решить неравенства:
       а)4 2х + 1 ≤ 64                                   б) 0,2 х - 6≥  1   

в) 
[image: image23.wmf]68

2

2

7

2

5

1

4

³

+

×

-

+

+

+

х

х

х

      г)
[image: image24.wmf]5

2

2

x

x

+

 ≤ 5 3                             

             д) 
[image: image25.wmf]0

9

3

8

9

³

-

×

-

х

х


Вариант 5

1. Решить уравнения:

а) 
[image: image26.wmf]2
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             в) 3 х + 2  +3 х = 810                  г)  3·2 2х - 2 х + 1 = 1 

2. Решить неравенства:

а) 5 x - 4 ≤ 625                                      б) 
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Вариант 6
1. Решить уравнения:

а) 25 1 – 3x = 
[image: image33.wmf]125
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                  б)32 ·4 2 + 3х= 1      
 в) 2·5 х + 2  - 10·5 х = 8          г)  3 2х - 3 х = 72 

2. Решить неравенства:

а)  2 1 + 2x ≤ 16                                     б)
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Вариант 7
1. Решить уравнения:

а) 
[image: image40.wmf]2
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= 9 х + 3                                      б)5 · 25 1 – 3x = 125                         
в) 7 х + 1  - 7 х = 42                                       г)  2 2х - 2 х = 12
2. Решить неравенства:

а) 3 1 + 2x ≤ 81                                                    б)
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д)  
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Вариант 8
1. Решить уравнения:

а) 
[image: image48.wmf]4
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в) [image: image52.png]2¥*1 4 %71
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2. Решить неравенства:

а) 8 1 + 2x ≤ 64                                                    б)
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